
HYUNDAI
ACCENT

-

ACCENT I (X-3) 
ACCENT Saloon (X-3)

07/1994 - 01/2000
07/1994 - 01/2000

4

26HY0500

17HY0500

10HY0500

17HY0500

5

2

6

2

26HY050026HY0510 26HY0511

3

20HY1020HY10

Power Steering

8

11

7

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

54530 31600 

56820 37010 

57755 22000 

54825 22000 

54830 25010 

54830 25020 

54500 2220054500 22200 

54501 22200 

 

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link 

Stabiliser Link Left 

Stabiliser Link Right 

TTCA Left 

TCA Right 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1.5 RHT L:294,5mm 

  

L:59,5mm  

L:59,5mm  

 

10HY0500 

17HY0500 

20HY10 

26HY0500 

26HY0510 

26HY0511 

30HY050030HY0500 

30HY0501 

 

30HY050130HY0500

10HY0500



HYUNDAI
ACCENT

-

ACCENT II (LC) 
ACCENT II Saloon (LC) 

01/2000 - 11/2005
01/2000 - 11/2005  

4

17HY0500

10HY0500

26HY0505 26HY0505

10HY0500

17HY0500

5

2

6

2

26HY0510 26HY0511

3

20HY0510 20HY0510

Power Steering

8

11

7

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

54530 31600 

56820 37010 

57755 25000 

55830 25000 

54830 25010 

54830 25020 

54500 2500054500 25000 

54501 25000

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link Rear 

Stabiliser Link Left 

Stabiliser Link Right 

TTCA Left 

TCA Right 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:306mm 

L:136mm  

L:59,5mm  

L:59,5mm  

 

10HY0500 

17HY0500 

20HY0510 

26HY0505 

26HY0510 

26HY0511 

30HY050530HY0505 

30HY0506

30HY050630HY0505



HYUNDAI
ACCENT

-

ACCENT III (MC) 
ACCENT III Saloon (MC) 

12/2005 - 11/2010
12/2005 - 11/2010

17HY0515

38HY0100 38HY0100

17HY0516

5

2

6

3

26HY0515 26HY0516

4

20HY0515 20HY0515

11

77

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

51760 1G000 

56820 1E000 

56820 1E900 

57724 1E000 

54830 1E000 

54840 1E100 

54554551 2K000

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link Left 

Stabiliser Link Right 

Silentblock Silentblock For TCA 

th:M12x1.5 RHT  cp:1/8 cs:Ø15  

c:Ø13,25 th:FM14x1,5 RHT 

c:Ø13,25 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:196mm 

L:285mm  

L:285mm  

di:Ø12di:Ø12,1 do:Ø32

10KI2000 

17HY0515 

17HY0516 

20HY0515 

26HY0515 

26HY0516 

38HY38HY0100

10KI2000 10KI2000



HYUNDAI
ACCENT

-

ACCENT IV (RB) 
ACCENT IV Saloon (RB)
ACCENT i25 IV Saloon (RB)

08/2010 -->
11/2010 -->
11/2010 -->

5

2

5

3

26KI3000

4

6

20KI2010

38HY0110 38HY0110

38HY0300 38HY0300

10HY0500 10HY0500

17HY0520 17HY0521
20KI2010

11

77

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

54530 31600 

56820 0U500 

56820 0U590 

56540 0U000 

54830 2V000 

54551 4L000 

54554584 3X000

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Silentblock For TCA 

Silentblock Silentblock For TCA 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,3 th:FM16x1,5 RHT 

c:Ø13,3 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:217mm 

L:282mm  

di:Ø12,2  

di:Ødi:Ø14,5 do:Ø66 

10HY0500 

17HY0520 

17HY0521 

20KI2010 

26KI3000 

38HY0110 

38HY030038HY0300 

26KI3000



HYUNDAI
AVANTE

-

AVANTE (XD) 06/2000 - 07/2006

3

20KI020020KI0200
17HY0500

2 2

17HY0500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

54530 31600 

56820 37010 

57755 22000 

54825 22000

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link  

10HY0500 

17HY0500 

20KI0200 

26HY0605 

10HY0500 10HY0500

11

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:208,5mm 

L:130mm  

26HY0605 26HY0605

44



HYUNDAI
AVANTE

-

AVANTE Saloon (HD)  11/2005 - 12/2011

4

20HY200017HY2000 17HY2001

2 3

20HY2000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

51760 0Q000 

56820 2H000 

56820 2H090 

56540 2H000 

54830 2H200 

55130 4D000

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Silentblock Bushing 

th:M12x1.25 RHT  cp:1/8 cs:Ø15  

c:Ø13,4 th:FM14x1,5 RHT 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:164mm 

L:243mm  

di:Ø14,2 do:Ø44

10HY2000 

17HY2000 

17HY2001 

20HY2000 

26HY2510 

38HY1000

10HY2000 10HY2000

11

38HY1000 38HY1000

66

5 5

26HY2510 26HY2510



HYUNDAI
AVANTE

-

AVANTE (MD/UD) 09/2010 -->

2 3

17KI300117KI3000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

54530 31600 

56820 A6000 

56820 A6090 

54830 2V000 

55130 4D000 

Ball Joint 

Tie Rod End 

Tie Rod End 

Link Stabiliser 

Silentblock Bushing

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø 13,4 th:FM16x1,5 RHT 

c:Ø 13,4 th:FM16x1,5 RHT 

L:282mm  

di:Ø14,2 do:Ø44 

10HY0500 

17KI3000 

17KI3001 

26KI3000 

38HY1000 

 

10HY0500 10HY0500

1

4 4

26KI300026KI3000

38HY1000 38HY1000

55



HYUNDAI
COUPE

-

COUPE (RD) 08/1996 - 02/2002

COUPE

COUPE (GK) 03/2002 - 08/2009

2

17HY0500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

54530 31600 

56820 37010 

54830 29500 

55530 29000 

Ball Joint 

Tie Rod End 

Stabiliser Link 

Stabiliser Link Rear 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,4 th:FM14x1,5 RHT 

L:71mm  

L:130mm  

10HY0500 

17HY0500 

26HY0600 

26HY0605 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

54530 31600 

56820 25000 

57724 2D000 

Ball Joint 

Tie Rod End 

Axial Joint 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:208,5mm 

10HY0500 

17HY0500 

20KI0200 

10HY050010HY0500

11

17HY0500

3 3

26HY0600 26HY0600

26HY0605 26HY0605

44

3

20KI020020KI0200
17HY050017HY0500

2 2

10HY0500 10HY0500

11



HYUNDAI
ELANTRA

ELANTRA I (J1) 10/1990 - 11/1995

ELANTRA II (J2) 
 

11/1995 - 06/2000

2

17HY0500

10HY0600

26HY0100

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

54530 28000 

56820 37010 

54830 37020 

Ball Joint 

Tie Rod End 

Stabiliser Link Rear 

th:M12x1.25 RHT  cp:1/10 cs:Ø15  

c:Ø13,4 th:FM14x1,5 RHT 

L:60,5mm  

10HY0600 

17HY0500 

26HY0100 

1

3

1

17HY0500

PS 05/1992 ->

10HY0600

26HY0100

3

2

17HY0500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

54530 31600 

56820 37010 

54830 29500 

55530 29000 

Ball Joint 

Tie Rod End 

Stabiliser Link 

Stabiliser Link Rear 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,4 th:FM14x1,5 RHT 

L:71mm  

L:130mm  

10HY0500 

17HY0500 

26HY0600 

26HY0605 

10HY050010HY0500

11

17HY0500

3 3

26HY0600 26HY0600

26HY0605 26HY0605

44



HYUNDAI
ELANTRA

-

ELANTRA (XD) 06/2000 - 07/2006

3

20KI020020KI0200
17HY0500

2 2

17HY0500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

54530 31600 

56820 25000 

57724 2D000 

55530 29000 

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link Rear 

10HY0500 

17HY0500 

20KI0200 

26HY0605 

10HY0500 10HY0500

11

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:208,5mm 

L:130mm  

26HY0605 26HY0605

44



HYUNDAI
ELANTRA

-

ELANTRA (HD) 
ELANTRA Saloon (HD) 

11/2005 - 12/2011
11/2005 - 12/2011

4

20HY200017HY2000 17HY2001

2 3

20HY2000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

51760 0Q000 

56820 2H000 

56820 2H090 

56540 2H000 

54830 2H200 

55130 4D000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Link Stabiliser

Silentblock Bushing 

 

th:M12x1.25 RHT  cp:1/8 cs:Ø15  

c:Ø13,4 th:FM14x1,5 RHT 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:164mm 

L:243mm  

di:Ø14,2 do:Ø44 

10HY2000 

17HY2000 

17HY2001 

20HY2000 

26HY2510 

38HY1000

10HY2000 10HY2000

11

38HY1000 38HY1000

66

5 5

26HY2510 26HY2510



HYUNDAI
ELANTRA

-

ELANTRA (MD/UD) 09/2010 -->

2 3

17KI300117KI3000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

54530 31600 

56820 A6000 

56820 A6090 

54830 2V000 

54584 3X000 

Ball Joint 

Tie Rod End 

Tie Rod End 

Link Stabiliser 

Silentblock For TCA 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø 13,4 th:FM16x1,5 RHT 

c:Ø 13,4 th:FM16x1,5 RHT 

L:282mm  

di:Ø14,5 do:Ø66 

10HY0500 

17KI3000 

17KI3001 

26KI3000 

38HY0300  

 

10HY0500 10HY0500

1

4 4

26KI300026KI3000

38HY0300 

55

38HY0300 



HYUNDAI
EQUUS

-

EQUUS / CENTENNIAL (JS) 10/1999 - 03/2009

EQUUS / CENTENNIAL 03/2009 ->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
54530-2B000 

56820-22000 

Ball Joint 

Tie Rod End 

c:Ø20   do:Ø42,75 

c:Ø13,4 th:FM14x1,5 RHT 

10HY3000 

17HY0500 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 55130 4D000Silentblock Bushing38HY1000

38HY1000 38HY1000

11

2

1

2

17HY0500

10HY3000

17HY0500

10HY3000



HYUNDAI
EXCEL

-

EXCEL (X-2) 10/1989  01/1995

10HY0600

20HY10

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
54530 24A00 

57730 24100 

Ball Joint 

Axial Joint 

th:M12x1.25 RHT  cp:1/10 cs:Ø15  

th:MM16x1.5 RHT L:294,5mm 

10HY0600 

20HY10 

1

10HY0600

20HY10
2

PS TRW



HYUNDAI
EXCEL

-

EXCEL I (X-3)
EXCEL Saloon (X-3)

07/1994 - 01/2000
07/1994 - 01/2000

4

26HY0500

17HY0500

10HY0500

17HY0500

5

2

6

2

26HY050026HY0510 26HY0511

3

20HY1020HY10

Power Steering

8

11

7

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

54530 31600 

56820 37010 

57755 22000 

54825 22000 

54830 25010 

54830 25020 

54500 2220054500 22200 

54501 22200 

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link 

Stabiliser Link Left 

Stabiliser Link Right 

TTCA Left 

TCA Right 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1.5 RHT L:294,5mm 

  

L:59,5mm  

L:59,5mm  

 

10HY0500 

17HY0500 

20HY10 

26HY0500 

26HY0510 

26HY0511 

30HY050030HY0500 

30HY0501 

 

30HY050130HY0500

10HY0500



HYUNDAI
EXCEL

-

EXCEL II (LC) 01/2000 - 11/2005

4

17HY0500

10HY0500

26HY0505 26HY0505

10HY0500

17HY0500

5

2

6

2

26HY0510 26HY0511

3

20HY0510 20HY0510

Power Steering

8

11

7

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

54530 31600 

56820 37010 

57755 25000 

55830 25000 

54830 25010 

54830 25020 

54500 2500054500 25000 

54501 25000 

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link Rear 

Stabiliser Link Left 

Stabiliser Link Right 

TTCA Left 

TCA Right 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:306mm 

L:136mm  

L:59,5mm  

L:59,5mm  

 

10HY0500 

17HY0500 

20HY0510 

26HY0505 

26HY0510 

26HY0511 

30HY050530HY0505 

30HY0506

30HY050630HY0505



HYUNDAI
GALLOPER

GENESIS

GALLOPER II (JK01) 08/1998  -12/2003

GENESIS 01/2008 -->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 54417 44000Ball Joint th:M14x1.5 RHT  cp:1/8 cs:Ø15,9 do:Ø40,0510MT0500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 55130 4D000di:Ø14,2 do:Ø44Silentblock Bushing38HY1000

10MT0500

38HY100038HY1000

10MT0500

1

1

Upper



HYUNDAI
GETZ

-

GETZ (TB) 09/2002 - 12/2011

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

54530 31600 

56820 37010 

57755 1C000 

54840 1C000 

54830 1C000 

54500 1C000* 

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link Right 

Stabiliser Link Left 

Silentblock For TCA 

10HY0500 

17HY0500 

20HY2005 

26HY2000 

26HY2001 

38HY0200 

4

3 2

26HY2000

20HY2005

17HY0500

26HY2001

5

20HY2005
2

17HY0500

10HY0500 10HY0500

38HY0200

1

6

38HY0200

6



HYUNDAI
GRAND SANTA FE

-

GRAND SANTA FE 06/2013 ->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
54530 3S100 

55130 4D000 

Ball Joint 

Silentblock for TCA 

c:Ø18    

di:Ø14,2 do:Ø44 

10KI3000 

38HY1000 

10KI300010KI3000

38HY100038HY1000

2 2

1



HYUNDAI
H-1

-

H-1 (MINI BUS)
H1

01/1996 - 11/2002
11/2002 - 12/2006

5

26HY1500

5

17HY1500

10MT0101

10HY1500

3 34

1

20HY1020HY10

2

17HY1500

10MT0101

2

10HY1500

26HY1500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

54530 4AA00 

54417 47000 

56820-47300 

57729 4A000 

54830 4A003 

Ball Joint Lower 

Ball Joint Upper 

Tie Rod End 

Axial Joint 

Stabiliser Link 

th:M16x1.5 RHT  cp:1/8 cs:Ø19,3  

th:M16x1.5 RHT  cp:1/8 cs:Ø17,75  

th:MM16x1.5 RHT L:294,5mm 

L:55mm  

10HY1500 

10MT0101 

17HY1500 

20HY10 

26HY1500 



HYUNDAI
H100

-

H100 07/1993 - 02/2004

17HY1500

10MT0101

2 2

1

17HY1500

10MT0101

1

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

5441743A00 

56820-47300 

57755 25000 

Ball Joint Upper 

Tie Rod End 

Axial Joint 

10MT0101 

17HY1500 

20HY0510 

3
20HY051020HY0510

Power Steering



HYUNDAI
H200

-

H200 01/1996 - 11/2002

5

26HY1500

5

17HY1500

10MT0101

10HY1500

3 34

1

20HY1020HY10

2

17HY1500

10MT0101

2

10HY1500

26HY1500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

54530 4AA00 

54417 47000 

54417 47000 

57729 4A000 

54830 4A003 

Ball Joint Lower 

Ball Joint Upper 

Tie Rod End 

Axial Joint 

Stabiliser Link 

10HY1500 

10MT0101 

17HY1500 

20HY10 

26HY1500 



HYUNDAI
i10

-

i10 (IA) 12/2013 ->

i20

i20 (PB, PBT) 09/2008 - 12/2015

26HY201126HY2010

65

2 34

17HY2010 17HY2011
20HY201020HY2010

1

38HY011038HY0110

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 54551 4L000Silentblock For TCA di:Ø12,2 38HY0110

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

54530 31600 

56820 2K000 

56820 2K050 

57724 1J000 

54830 1J000 

54840 1J000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link Left 

Stabiliser Link Right 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,25 th:FM16x1,5 RHT 

c:Ø13,25 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:222mm 

L:216mm  

L:216mm  

10HY0500 

17HY2010 

17HY2011 

20HY2010 

26HY2010 

26HY2011 

10HY0500 10HY0500

11



/0 "4.&5"-�$0D& .&"463&4 0&.D&4$3*15*0/

1

2
54530 31600 

54830 2V000 

Ball Joint 

Stabiliser Link 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

L:282mm  

10HY0500 

26KI3000 

10HY0500 10HY0500

1

2

1

26KI3000 26KI3000



38HY1000

26HY2500

38HY1000

1

2

3

4

5

6

77

8

51760 0Q000 

51760 2R000 

56820 2H000 

56820 2H090 

56540 2H000 

55530 1H100 

54830 2H20054830 2H200 

55130 4D000 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link Rear 

Stabiliser LinkStabiliser Link 

Silentblock Bushing 

th:M12x1.25 RHT  cp:1/8 cs:Ø15  

th:M12x1.5 RHT  cp:1/8 cs:Ø15,1 do:Ø42 

c:Ø13,4 th:FM14x1,5 RHT 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:164mm 

L:170mm  

L:L:243mm  

di:Ø14,2 do:Ø44 

10HY2000 

10KI3010 

17HY2000 

17HY2001 

20HY2000 

26HY2500 

26HY226HY2510 

38HY1000 

20HY200017HY2000 17HY2001

10KI301010KI301010HY2000 10HY2000

20HY2000

26HY2510 26HY2510

26HY2500



20KI300017KI3000 17KI3001

10HY050010HY0500

26KI3000

10KI3000

38HY0310

38HY030038HY0300

26KI3010

1

2

3

4

5

6

77

8

9

54530 3S100 

54530 31600 

56820 A6000 

56820 A6090 

56540 A6000 

54830 2V000 

55530 3R00055530 3R000 

54584 3X000 

54584 A6000 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Stabiliser LinkStabiliser Link 

Silentblock For TCA 

Silentblock For TCA 

c:Ø18    

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø 13,4 th:FM16x1,5 RHT 

c:Ø 13,4 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:218,5mm 

L:282mm  

L:L:87mm  

di:Ø14,5 do:Ø66 

di:Ø14,3 do:Ø70 

10KI3000 

10HY0500 

17KI3000 

17KI3001 

20KI3000 

26KI3000 

26KI326KI3010 

38HY0300 

38HY0310 

26KI3000

20KI3000

10KI3000

26KI3010



17KI3000 17KI3001

10HY0500

38HY1000

10HY0500

38HY1000

26KI3000

38HY030038HY0300

1

2

3

4

5

54530 31600 

56820 A6000 

56820 A6090 

54830 2V000 

54584 3X000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Stabiliser Link 

Silentblock For TCA 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø 13,4 th:FM16x1,5 RHT 

c:Ø 13,4 th:FM16x1,5 RHT 

L:282mm  

di:Ø14,5 do:Ø66 

10HY0500 

17KI3000 

17KI3001 

26KI3000 

38HY0300 

1 55130 4D000Silentblock Bushing di:Ø14,2 do:Ø4438HY1000

26KI3000



10KI3000

26KI3010

1

2
54530 3S100 

55530 3R000 

Ball Joint 

Stabiliser Link 

c:Ø18    

L:87mm  

10KI3000 

26KI3010 

10KI3000

26KI3010

26HY201126HY2010

17HY2010 17HY2011

1

2

3

4

5

6

54530 31600 

56820 2K000 

56820 2K050 

54830 1J000 

54840 1J000 

54551 2K000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Stabiliser Link 

Stabiliser Link 

Silentblock For TCA 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,25 th:FM16x1,5 RHT 

c:Ø13,25 th:FM16x1,5 RHT 

L:216mm  

L:216mm  

di:Ø12,1 do:Ø32 

10HY0500 

17HY2010 

17HY2011 

26HY2010 

26HY2011 

38HY0100 

10HY0500 10HY0500
38HY010038HY0100



1 54830 2V000Link Stabiliser26KI3000

26KI3000

08/2013 ->08/2013 ->

26KI3000

26HY300126HY3000

1

2

3

4

5

6

56820 2B000 

56820 2B900 

54830 2B000 

54840 2B000 

55530 2B000 

55130 4D000 

Tie Rod End Left 

Tie Rod End Right 

Stabiliser Link Left 

Stabiliser Link Right 

Stabiliser Link Rear 

Silentblock Bushing 

17HY3000 

17HY3001 

26HY3000 

26HY3001 

26HY3005 

38HY1000 

17HY3001
17HY3000

26HY300526HY3005

38HY100038HY1000



17HY0500

10HY0600

26HY0100

1

2

3

54530 28000 

56820 37010 

54830 37020 

Ball Joint 

Tie Rod End 

Stabiliser Link Rear 

th:M12x1.25 RHT  cp:1/10 cs:Ø15  

c:Ø13,4 th:FM14x1,5 RHT 

L:60,5mm  

10HY0600 

17HY0500 

26HY0100 

17HY0500

10HY0600

26HY0100

17HY0500

1

2

3

4

54530 31600 

56820 37010 

54830 29500 

55530 29000 

Ball Joint 

Tie Rod End 

Stabiliser Link 

Stabiliser Link Rear 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,4 th:FM14x1,5 RHT 

L:71mm  

L:130mm  

10HY0500 

17HY0500 

26HY0600 

26HY0605 

10HY050010HY0500

17HY0500

26HY0600 26HY0600

26HY0605 26HY0605



10HY0500

26HY0605

10HY0500

17HY0500

26HY0510 26HY0511

20HY3005

1

2

3

4

5

6

54530 31600 

56820 37010 

57755 17000 

54830 25010 

54830 25020 

55530 17010 

Ball Joint 

Tie Rod End 

Axial Joint 

Link Stabiliser Left 

Link Stabiliser Right 

Link Stabiliser 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1,5 RHT L:322mm 

L:59,5mm  

L:59,5mm  

L:130mm  

10HY0500 

17HY0500 

20HY3005 

26HY0510 

26HY0511 

26HY0605 

20HY3005
17HY0500

26HY0605



10HY0600

20HY10

1

2
54530 24A00 

57730 24100 

Ball Joint 

Axial Joint 

th:M12x1.25 RHT  cp:1/10 cs:Ø15  

th:MM16x1.5 RHT L:294,5mm 

10HY0600 

20HY10 

10HY0600

20HY10



26HY0500

17HY0500

10HY0500

17HY0500

26HY050026HY0510 26HY0511

20HY1020HY10

1

2

3

4

5

6

77

8

54530 31600 

56820 37010 

57755 22000 

54825 22000 

54830 25010 

54830 25020 

54500 2220054500 22200 

54501 22200 

 

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link 

Stabiliser Link Left 

Stabiliser Link Right 

TTCA Left 

TCA Right 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1.5 RHT L:294,5mm 

  

L:59,5mm  

L:59,5mm  

 

10HY0500 

17HY0500 

20HY10 

26HY0500 

26HY0510 

26HY0511 

30HY050030HY0500 

30HY0501 

30HY050130HY0500

10HY0500



10HY0600

26HY3011

10HY3000

20HY300520HY3005

26HY3010

20HY10

1

2
54530 24A00 

57730 24100 

Ball Joint 

Axial Joint 

th:M12x1.25 RHT  cp:1/10 cs:Ø15  

th:MM16x1.5 RHT L:294,5mm 

10HY0600 

20HY10 

1

2

3

4

54530 3B000 

57785 26200 

54830 26100 

54840 26000 

Ball Joint 

Axial Joint 

Link Stabiliser Left 

Link Stabiliser Right 

c:Ø20   do:Ø42,75 

th:MM16x1,5 RHT L:322mm 

L:263mm  

L:263mm  

10HY3000 

20HY3005 

26HY3010 

26HY3011 

10HY3000

10HY0600

20HY10



10HY3000

1

2

3

4

5

6

77

54503 3BA00 

56820 2B000 

56820 2B900 

57724 2B000 

54830 2B000 

54840 2B000 

55530 2B00055530 2B000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Link Stabiliser Left 

Link Stabiliser Left 

Link Stabiliser Right 

Link StabiliserLink Stabiliser 

c:Ø20   do:Ø42,75 

c:Ø13,9 th:FM16x1,5 RHT 

c:Ø13,9 th:FM16x1,5 RHT 

th:MM16x1.5 RHT L:190mm 

L:340mm  

L:340mm  

L:99mm L:99mm  

10HY3000 

17HY3000 

17HY3001 

20HY3000 

26HY3000 

26HY3001 

26HY300526HY3005 

10HY3000

26HY300126HY3000

17HY300120HY300017HY3000

26HY300526HY3005

20HY3000



1

2
54530 3S100 

55130 4D000 

Ball Joint

Silentblock Bushing 

 

c:Ø18    

di:Ø14,2 do:Ø44 

10KI3000 

38HY1000 

1

2

3

4

54530 31600 

54830 2V000 

54551 4L000 

54584 3X000 

Ball Joint 

Stabiliser Link 

Silentblock For TCA 

Silentblock For TCA 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

L:282mm  

di:Ø12,2  

di:Ø14,5 do:Ø66 

10HY0500 

26KI3000 

38HY0110 

38HY0300 

10KI300010KI3000

38HY100038HY1000

10HY050010HY0500

26KI3000

38HY0300

38HY0110

38HY0300

26KI3000

38HY0110



17HY0500

20HY3005

17HY050017HY0500

10HY0500 10HY0500

17HY0500

1

2
54530 31600 

56820 37010 

Ball Joint 

Tie Rod End 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,4 th:FM14x1,5 RHT 

10HY0500 

17HY0500 

1

2
56820 37010 

57716-34000 

Tie Rod End 

Axial Joint 

17HY0500 

20HY3005 

20HY3005



1

2
54530 3S100 

55530 3R000 

Ball Joint 

Stabiliser Link 

c:Ø18    

di:Ø14,2 do:Ø44 

10KI3000 

26KI3010 

1

2

3

4

5

54530 4AA00 

54417 47000 

54417 47000 

57729 4A000 

54830 4A003 

Ball Joint Lower 

Ball Joint Upper 

Tie Rod End 

Axial Joint 

Stabiliser Link 

c:Ø18    

di:Ø14,2 do:Ø44 

10HY1500 

10MT0101 

17HY1500 

20HY10 

26HY1500 

10KI3000

26HY150026HY1500

26KI3010

10KI3000

17HY1500 17HY1500

10MT0101

10HY1500

10MT0101

10HY1500

20HY1020HY10

26KI3010



10HY3000 10HY3000

-> 02/2004-> 02/2004

20HY300520HY3005

1

2
54530 2B000 

57724 3A000 

Ball Joint 

Axial Joint 

c:Ø20   do:Ø42,75 

th:MM16x1,5 RHT L:322mm 

10HY3000 

20HY3005 

1 54830 2V000Stabiliser Link26KI3000

26KI300026KI3000



HYUNDAI
VELOSTER

5

17KI3000 17KI3001

10HY0500

2 3

1

10HY0500

1

-

VELOSTER (FS) 03/2011 ->

4 4

26KI3000

38HY0300

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

54530 31600 

56820 A6000 

56820 A6090 

54830 2V000 

54584 3X000 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Stabiliser Link 

Silentblock For TCA 

10HY0500 

17KI3000 

17KI3001 

26KI3000 

38HY0300 

26KI3000



HYUNDAI
VERNA

-

VERNA I (X-3)
VERNA Saloon (X-3)

07/1994 - 01/2000
07/1994 - 01/2000

4

26HY0500

10HY0500

17HY050017HY0500

5

2

6

2

26HY050026HY0510 26HY0511

3

20HY1020HY10

Power Steering

8

11

7

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

54530 31600 

56820 37010 

57755 22000 

54825 22000 

54830 25010 

54830 25020 

54500 2220054500 22200 

54501 22200 

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link 

Stabiliser Link Left 

Stabiliser Link Right 

TTCA Left 

TCA Right 

th:M12x1.25 RHT  cp:1/8 cs:Ø15 do:Ø40 

c:Ø13,4 th:FM14x1,5 RHT 

th:MM16x1.5 RHT L:294,5mm 

  

L:59,5mm  

L:59,5mm  

 

10HY0500 

17HY0500 

20HY10 

26HY0500 

26HY0510 

26HY0511 

30HY050030HY0500 

30HY0501 

30HY050130HY0500

10HY0500


